
A. 

   ‐‐‐‐ AAGTCGTGCTA ‐‐‐‐ Watson (+) 

 ‐‐‐‐ TTCAGCACGAT ‐‐‐‐ Crick (−) 

      AAGTCGTGTTA  +FW  tctgt 

TTCAGCACAAT       +RC  tacct 

TTTAGCACGAT       −FW  tgtct 

      AAATCGTGCTA  −RC  tccat 

Methylated C 
Unmethylated C 

FW tag 
RC tag 

B. 

not a mismatch 

   ‐‐‐ATGTTGTGTTA ‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐  C/T Watson 

Watson    ‐‐‐ATGTCGTGCTA ‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐ 

BS read:     ACGTCATGTTA  

C/T ATGTTATGTTA  

tctgt  

mismatch 

Step 1: 3‐leGer alignment Step 2: Post‐processing 

mismatch 


